
 2,5 cm² = 
 

mm² 

 5,2 cm² = 
 

mm² 

 0,2 cm² = 
 

mm² 

 250 cm² = 
 

mm² 

520 cm²= 
 

mm² 

25 cm² = 
 

mm² 

 5 cm² = 
 

mm² 

 0,52 cm²= 
 

mm² 

 0,05 cm²= 
 

mm² 

 0,02 cm²= 
 

mm² 

2 cm² = 
 

mm²   

 52 cm² = 
 

mm² 

 0,5 cm² = 
 

mm² 

 5,02 cm²= 
 

mm² 

 
500 mm² 

 
52 mm² 

 
5 mm² 

 
205 mm² 

 
25 mm² 

 
2500 mm² 

 
100 mm² 

 
250 mm² 

 
520 mm² 

 
20 mm² 

 
25000 mm² 

 
52000 mm² 

 
200 mm² 

 
5200 mm² 

 
50 mm² 

 
2 mm² 

 
502 mm² 

1 cm² = 
 

mm²  

 2,05 cm²= 
 

mm² 

0,25 cm²= 
 

mm² 


